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H-® com Ne5 8 8 6 40 1
H-® com Ne6 2.5 2.5 14-16
H-® comr Ne9 11 17
AnpeneBckas com Nel 5 25 215 3
AmnpejieBckas comr Ne3 25 10.5 9
Anpenesckas com Ned 25 2.5 14-16
AnaduHcKasi comn 7 2.5 3 315 2
BacuabunHoBcKasi coun 5 101 11
BoadyeHkoBcKasi colll 6 7 13] 5-6
Ha3apseBckas com 8 9| 12
ITeTrpoBckas com 2.5 7 1.5 14| 4
CeasiTunckas com Nel 13| 5-6
TaTumeBckas coul 2.5 2.5 14-16
Jderckuii cax NeS 5 5| 12
Jerckmii cag Ne7 2.5 10.5| 10
Jerckuii cax Ne9 6 11 8
Jerckuii cag Ne22 4 4 13
Jerckuii cax Ne61 1.5 115 7
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pa3oBaTesibHbIX YYpeXxXaeHUU panoHa






